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1. The circuits are connected as shown in Fig.1 with ideal diodes. Find V and I. (20%0)
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Fig.1

2.For the circuit shown in Fig.2, the transistor has =100 and Va=. (a) What is the

amplifier configuration? (CE, CB, CC). (b) Determine the voltage gain v,/v;, the input

resistance R; and the output resistance R,. (20%0)
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3.For the op amplifier circuit of Fig.3, assuming an ideal op amp, find the output voltage v,.
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4.Consider the NMOS transistor in the discrete CS amplifier circuit of Fig.4 under the

following conditions: R;, =50k, R =33MQ, R,=5MQ, R,=39kQ, Ry=15kQ,

R, =5.6kQ, C,=0.02uF, C.,=01uF, C,=204F,and g,=1mA/N. Find the mid band

f

gainA, =v, /vy, f, , f, , f, and, f_. (30%)

Fig.4
5.Find the voltage gain and input resistance of the amplifier in Fig.5 assuming that 5 =100.

(20%)
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